Tensorflow 2 3 X4

1. 3E (tensor) ENX : A tensor is something that transforms like a tensor! —N&, AR

RHSE R TREBEMFEMENHTER, SEKE.

2. tensorflow %1248 - BAEHCRITRERRE, Tensorflow K TF— a3 M C++/aim
k#HTITE., 5EmNXAEREME session, —&T S, {£H TensorFlow ZFEARIEE %
BIE—1E, RIETE session HEHE.

3. {#A TensorFlow, AFRRHLA A
« fERE (graph) RETRITEES.
o EWFRZ A £1F (Session) H9_E T (context) H#FTHEL.
« £/ tensor FRREIE,
« @i &8 (Variable) #EHUIRE.
« {8 feed 0 fetch T A{EEAYIE{E(arbitrary operation) MR{E S E M H F3KELEL
o

4. Tensorflow ¥ITEESMITNEFXK :
MEX1: BlE—KE, EXFEFHNRE
BYERX 2 : M session (=1d) FHITEIFITE
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5. tensorflow api :
® (lass env
® (Class env wrapper
® (Class random access file
® (Class seesion :

InteractiveSession 2 : {REEEITEIAIEHE, EA—EITER, XEITEREHELERE



(operations) M A AY . XX F THEAERX ERHRERNANKIRIESEFR, A
IPython, IAR{REFH # A InteractiveSession, IPAIRTEE B3 session Z BIHEE
ITEE, REBIMZTERE.

B . http//www.tensorfly.cn/tfdoc/api_docs/cc/ClassSession.html

® (Class status
® (Class tensor

A Neural Network Example

HEMEEEF, BUBE N MNIST HUEE.
1. g EdE

from tensorflow.examples.tutorials.mnist import input_data
mnist = input_data.read_data_sets("MNIST_data/", one_hot=True)

one_ hot—True %t label #4T one-hot 48f5, LEINFRE 4 o7 IUFRxA4[0,0,0,0, 1,0, 0, 0,
0, 0], XZMLEZM L% HEERAIEI.

2. EXGBSEA placeholder

# B
learning_rate = 0.5
epochs = 10
batch_size = 100

# placeholder

# MBI A 28x28 & =784

x = tf.placeholder(tf.float32, [None, 784])
# Ht 2 0-9 B9 one-hot 43#%

y = tf.placeholder(tf.float32, [None, 10])

BR5E18, [None, 784]F K None "o fERE, #H3IX K tensor £1H .
3. EXBH wHb

# hidden layer => w, b

W1 = tf.Variable(tf.random_normal([784, 300], stddev=0.03), name="W1")
bl = tf.Variable(tf.random_normal([300]), name="'b1")

# output layer =>w, b

W?2 = tf.Variable(tf.random_normal([300, 10], stddev=0.03), name="W2")
b2 = tf.Variable(tf.r-andom_normal([10]), name="b2")



EXE, BETBREEEENFENSE w M b BEFEMALMIGILA], tfrandom_normal()4E
RRIEZS 9> o BORE AL SR

4. HIERRE ML
# hidden layer

hidden_out = tf.add(tf.matmul(x, W1), b1)
hidden_out = tf.nn.relu(hidden_out)

FERBNYETAR
Z=Wx+b
h=relu(z)

5. Mgt (FUNME)

# TR

y_ = tf.nn.softmax(tf.add(tf. matmul(hidden_out, W2), b2))

NFEFEZDHRES, AMHENBIEREERZ thnnsoftmax(). EZXT softmax FIHIIR
NgEEBER,

6. BP Zp—E X loss
MEAZXE, ARA

J==1Im 3 i=1m 3 j=1nyijlog(y(i)j)+(1—y(i)log(1—y(i)j)
PR ARE

X n MREITTERZ X

Xf m NEEAREE Y

y_clipped = tf.clip_by_value(y_, 1e-10, 0.9999999)

cross_entropy = -tfreduce_mean(tf.reduce_sum(y * tflog(y clipped) + (1 - vy) * tflog(l -
y_clipped), axis=1))

7. 8P BH— XA
# ARMEAE, WGBS

optimizer =
tf.train.GradientDescentOptimizer(learning_rate=learning_rate).minimizer(cross_entropy)

8. EXAIE1k operation FIAE#ZE node

# init operator
init_op = tf.global_variables_initializer()

# BIERET R



correct_prediction = tf.equal(tf.argmax(y, 1), tf.argmax(y_, 1))
accuracy = tf.reduce_mean(tf.cast(correct_prediction, tf.float32))

correct_predicion iR [Bl—4 mx1
B9 tensor, tensor FY{E 4 True/False RxEHFIEFHTUN

Setting up the trianing
9. FirillZk

# BIE session
with tf.Session() as sess:
# TENIRK
sess.run(init)
total_batch = int(len(mnist.train.labels) / batch_size)
for epoch in range(epochs):
avg_cost =0
for i in range(total_batch):
batch_x, batch_y = mnist.train.next_batch(batch_size=batch_size)
_, ¢ = sess.run([optimizer, cross_entropy], feed_dict={x: batch_x, y: batch_y})
avg_cost += ¢/ total_batch
print("Epoch:", (epoch + 1), "cost = ", "{..3f}".format(avg_cost))
print(sess.run(accuracy, feed_dict={x: mnist.test.images, y: mnist.test.labels}))



